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Jt 13 : Most Distant Point from the Sea (7 7 # X F31E 2007)



https://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=1283
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RO/AB RO/ 43, E: Voronoi diagram) . HAHIEEZEHE LDEEDHE
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- https://ja.wikipedia.org/wiki/%E3%83%9C%E3%83%AD %E3%83%38E
%E3%82%A4%ES%9B%B3



https://ja.wikipedia.org/wiki/%E8%8B%B1%E8%AA%9E
https://ja.wikipedia.org/wiki/%E8%B7%9D%E9%9B%A2%E7%A9%BA%E9%96%93
https://ja.wikipedia.org/wiki/%E7%82%B9
https://ja.wikipedia.org/wiki/%E9%A0%98%E5%9F%9F_(%E8%A7%A3%E6%9E%90%E5%AD%A6)
https://ja.wikipedia.org/wiki/%E3%83%9C%E3%83%AD%E3%83%8E%E3%82%A4%E5%9B%B3
https://ja.wikipedia.org/wiki/%E3%83%9C%E3%83%AD%E3%83%8E%E3%82%A4%E5%9B%B3
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o =RETELTHDLZETEHT - O(N4)
e N [A] Convex Cut - O(N”3)

e N [A] half plane intersection - O(N*2 log N)
e fortune algorithm ((EEFEZE)- O(N log N)




Half Plane Intersection

o HIERZEELT. MORAEDEE_FHIRTHEHT
o {RAYV—FLTCHT
o #$H#8:Magic Triangles (JAG summer 2018 day3 E)

o SEIOMBERETIEIEBEERSNEIZESLEWN O ZERITNSDELES
o KRR/ \—FE, EEDIMIIC 4 RELLE



https://atcoder.jp/contests/jag2018summer-day3/tasks/jag2018summer_day3_e

HFE T : fortune algorithm

"voronoi diagram implementation" EMNTRERT H&

https://github.com/JCash/voronoi M TEFET . E

RET YR OTEH - RODHKDYIER) A MZE- k
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https://qgithub.com/JCash/voronoi/issues/48

FfEMZEZEL T Library Checker [ZEBANL TLFZELY



https://github.com/JCash/voronoi
https://github.com/JCash/voronoi/issues/48

HFEI(F2: fortune algorithm

"voronoi diagram codeforces" EMNTHERET S &
https://codeforces.com/topic/86176 M TEET

My code doesn't work when two points have the
same x coordinate. This is handled simply by
rotating all input points by 1 radian and praying to
the geometry gods.

HEMEEL T Library Checker [Z180L TLFZE0D



https://codeforces.com/topic/86176
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